www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

Rainbow
Model: D3C / D3A

Effective serial number 4378001 with a start date of March 1980 through serial number 5999999
and an end date of April 1986.

Page 1



www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

Cap Assembly

-

This category covers the complete Rainbow D3 cap cover assembly that includes the
handle, and inner baffle.

Page 2



www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

# |Image Item Name Item # Price

1 | N9 | Applique, Handle, D3 R1567 | Discontinued*
IMAGE pplique, Handle, iscontinue

2 \ Handle, w/ Appligue, D3 R1574 $9.14 USD*

3 & |Exhaust Cover, D3 R1652 $9.72 USD*

4 @ Appligue, Exhaust Cover, D3 R1569 Discontinued*

Product Details Unavailable - Please call us for availability

5 NO Quote: /rainbow-vacuum-schematics/d3/cap-assembl - CALL
IMAGE | SHOH* P y 800-640-2033

6 Cap, D3 R1822 $18.78 USD*

7 * Appligue, Baffle, D3 R1570 $4.83 USD*

$15.07 USD
8 % Baffle, Inner, D3 R1573 $11.30 USD*
9 " Screw, #10-10 x .75 Inch, Housing, D3 H489 $0.23 USD*

* Prices correct as of April 16, 2024, 6:16 pm.

Page 3



https://www.rainvac.com/rainbow-vacuum-parts/d3/cap-assembly/applique-handle-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/cap-assembly/handle-w-applique-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/cap-assembly/exhaust-cover-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/cap-assembly/applique-exhaust-cover-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/cap-assembly/cap-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/cap-assembly/applique-baffle-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/cap-assembly/baffle-inner-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/screw-10-10-x--75-inch-housing-d3

www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

Main Housing

This category covers the complete Rainbow D3 main housing assembly that includes the
main power cord, switch, latches, and motor gasket.

Page 4



www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

# |Image Item Name Item # Price
la ’ Main Housing, D3C R2094 $89.93 USD*
1b e Main Housing, D3A R1825 $109.79 USD*
2 Q Bracket, Switch, D3 R1644 $1.58 USD*
3 | @ |Switch, D3 R1645 | $19.27 USD*
4 @ | Open-Closed Bushing D3/D2 R1158 $0.39 USD*
5 | S |Insulator, Switch, D3 R1734 | $3.63 USD*
6 | g |Terminal (R1582/R1753), D3 R1642 | $4.75 USD*
7 Electric Cord, 120v, D3 R1753 $41.58 USD*
8 €\ | Strain Relief Clip, D4/D3 R1528 $1.22 USD*
9 Switch Cover, D3 R1526 $5.30 USD*
10 ¢ Screw, #8-32 x .50 Inch, R747, D3/D2 H378 $0.23 USD*
11 | ™ |Screw, Switch Cover, D3 H492 $0.23 USD*
12 9 Water Pan, 2 Qt, D4/D3 R6854 $54.83 USD*
13 \ Appligue, Main Housing, D3 R1572 $25.16 USD*
14a m Receptacle, P/Nozzle, D3C R1582 $18.88 USD*
14b @ Receptacle, P/Nozzle, D3A/D2 R1761 $14.79 USD*
15 " Screw, #10-10 x .75 Inch, Housing, D3 H489 $0.23 USD*
16 o Motor Support Ring, D3/D2 R599 $12.71 USD*

* Prices correct as of April 16, 2024, 6:16 pm.

Page 5



https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/main-housing-d3c
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/main-housing-d3a
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/bracket-switch-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/switch-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/open-closed-bushing-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/insulation-switch-d3
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/terminal-r1582r1753-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/electric-cord-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/strain-relief-clip-d4d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/switch-cover-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/screw-8-32-x--50-inch-r747-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/screw-switch-cover-d3
https://www.rainvac.com/rainbow-vacuum-accessories/water-pan/water-pan-2-qt-d4d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/applique-main-housing-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/receptacle-pnozzle-d3c
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/receptacle-pnozzle-d3ad2
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/screw-10-10-x--75-inch-housing-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/motor-support-ring-d3d2

www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

# |Image Item Name Item # Price
$16.15 USD
17 O Flange, D4/D3/D2 R747 £9.94 USD*
Product Details Unavailable - Please call us for availability
18 hO Quote: /rainbow-vacuum-schematics/d3/main-housin - CALL
IMAGE ' g 800-640-2033
#18
19 | €@ |Latch, D4/D3 R6178 $9.95 USD*
20 e Screw, #8-10 x .50 Inch H491 Discontinued*
21 O Gasket, Motor, D3/D2 R912 $20.41 USD*
22 Spring, Latch, D3 R1585 $4.16 USD*
23 | . |Pin, Latch, D4/D3 R1566 $7.75 USD*
24 | ) Outer Clamp Ring, D3/D2 R598 $16.20 USD*
25 Screw, Switch, R625 H511 Discontinued*
26 lMI\LOGE Terminal (R1582/R1753), D3 R1642 $4.75 USD*

* Prices correct as of April 16, 2024, 6:16 pm.

Page 6



https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/flange-d4d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d4/main-housing/latch-d4d3
https://www.rainvac.com/rainbow-vacuum-parts/d4/main-housing/screw-8-10-x--50-inch
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/gasket-motor-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/spring-latch-d3
https://www.rainvac.com/rainbow-vacuum-parts/d4/main-housing/pin-latch-d4d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/main-housing/outer-clamp-ring-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/main-housing/screw-switch-r625
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/terminal-r1582r1753-d3

www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

Motor, Version 2

19

e

e 20
|
L - — ) - lr"/’ 21
);.1. 22
3 — l_.——-‘ 21
L | ’lll 1 i“’_’_ 22
4\‘( !

‘ | — I ) — W’i g;
S — — 4
6 — =
7 ek = — __— 25

| mq:’ay——'_’ 21

8 — % 28

N

| | —

5) 5 == Y
| : }

6

45

Effective serial number 4607000 with a start date of June 5th 1982 through serial number
5999999 and an end date of April 1986.

*Note: From serial number 4440000 (rough estimate) through serial number 454550, the
"D3A" R1767 motor was standard. From 4545551 through 4607200, the revised R1909
armature and R2424 field was used.

Page 7



www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

# |Image Item Name Item # Price
0 é; Motor, Rainbow, 120v, D3/D?2 R2104 $243.75 USD*
1 /\ Clip, Stage Asm, D3/D2 R1423 $2.24 USD*
2 | = |stage, Upper, D3/D2 R1421 | $17.06 USD*
G
3 | G Stage, Middle, D3/D2 R1419 $20.41 USD*
4a A Stage, Lower w/ Ground, D3/D2 R1752 $23.40 USD*
4b b Screw, #8-32 x .38 Inch, Ground, D3/D2 H25 $0.65 USD*
5 | @ Air Guide, D3/D2 R1418 $3.34 USD*
6 Bearing Plate, D3 R1991 $41.02 USD*
7 | C ) |Gasket, Bearing Plate, D3/D2 R1415 $1.98 USD*
8 ® Grommet, D3/D2 R665 $2.83 USD*
9 IMNAOGE Terminal (R1582/R1753), D3 R1642 $4.75 USD*
10 Clamp, Wire, D3/D2 H487 $0.20 USD*
11 % Field (R1974), 120v, D3 R2424 $26.24 USD*
12 Insulator, Field, D3/D2 R1454 $1.97 USD*
13 Q&\ Armature (R2424), 120v, D3 R1974 $102.18 USD*
14 % Housing, Motor, D3/D2 R1448 $30.76 USD*
15 @) Boot, Bearing, D4/D3 R1987 $2.88 USD*
16 o Bearing, D4/D3 R1981 $14.78 USD*

* Prices correct as of April 16, 2024, 6:16 pm.

Page 8


https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/motor-rainbow-120v-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/clip-stage-asm-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/stage-upper-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/stage-middle-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/stage-lower-w-ground-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/screw-8-32-x--38-inch-ground-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/air-guide-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/bearing-plate-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/gasket-bearing-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/grommet-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/terminal-r1582r1753-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/clamp-wire-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/field-r1974-120v-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/insulator-field-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/armature-r2424-120v-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/housing-motor-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/boot-bearing-d4d3
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/bearing-d4d3

www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033
# |Image Item Name Item # Price
17 o Slinger Ring, D4/D3 R1979 $9.46 USD*
18 © | Shield, Bearing, D3 R1980 $1.56 USD*

19 © Nut, Shaft, D3/D2 H306 $1.58 USD*
20 e Spacer, Upper, D3 R1984 $1.85 USD*

21| (2 |Fan,D3 R1978 $9.08 USD*

22 8 Spacer, Middle, D3 R1983 $2.66 USD*

23 e Spacer, Lower, D3 R1982 $2.57 USD*
24 * Screw, #8-32 x .31 Inch, Bearing Plate, D3/D2 H475 $0.36 USD*
25 O | Retaining Ring, D4/D3 H523 $1.30 USD*
26 | 6% | Motor Cooling Fan, D3 R1975 | $3.54 USD*
27 O | Spacer, Motor Fan, D3 R2107 $0.85 USD*
28 Shroud, Motor Housing, D3/D2 R1407 $5.13 USD*
29 ~ | Screw, Field, D3/D2 H535 $0.50 USD*
30 Q Gasket, Lower Shell, D3/D2 R1795 $13.80 USD*
31 +» | Terminal, Field, Brush, D3/D2 R2423 $0.78 USD*
32 Gasket, Brush Holder, D3/D2 R1455 $1.89 USD*
33 ¥ |Brush Holder, D3 R2420 $4.69 USD*
34 =4 Screw, #8-32 x .50 Inch, Brush Holder, D3/D2 H309 $0.20 USD*
* Prices correct as of April 16, 2024, 6:16 pm.

Page 9


https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/slinger-ring-d4d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/shield-bearing-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/nut-shaft-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/spacer-upper-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/fan-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/spacer-middle-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/spacer-lower-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/screw-8-32-x--31-inch-bearing-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/retaining-ring-d4d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/motor-cooling-fan-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/spacer-motor-fan-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/shroud-motor-housing-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/screw-field-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/gasket-lower-shell-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/terminal-field-brush-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/gasket-brush-holder-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/brush-holder-d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/screw-8-32-x--50-inch-brush-holder-d3d2

www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

# |Image Item Name Item # Price
35 | W% | Motor Brush, D4/D3 R2421 $19.89 USD*
36 NO Product Details Unavailable - Please call us for availability ) CALL
IMAGE | Quote: /rainbow-vacuum-schematics/d3/motor-d3c #36 800-640-2033
37| {7 |Retainer, Cover Plate, D3/D2 R1473 | $1.33 USD*
38 N, |Cover Plate, D3/D2 R1471 $3.67 USD*
39 RS Gasket, Cover Plate, D3/D2 R1470 $1.11 USD*
40 Stud, Field Screw, D3/D2 R1449 $2.05 USD*
41 © Air Deflector, D3/D2 R1424 Discontinued*
42 L Screw, #8-32 x .48 Inch, Bearing Shield, D3/D2 H308 $0.46 USD*
43 @ Spider, D4/D3, v2 R4101 Discontinued*
44 ° Nut, Spider, D4/D3 H526 $1.76 USD*
45a © Nut, Separator, D4/D3 H524 $5.07 USD*
45b 2 Nut, Separator, SE H555 $5.30 USD*
99a (\\\\\\) Separator, D4/D3/D2, v1 R312 $19.47 USD*
99b ( ) |separator, D4/D3, v2 R4100 $m*

* Prices correct as of April 16, 2024, 6:16 pm.

Page 10



https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/motor-brush-d4d3
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/retainer-cover-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/cover-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/gasket-cover-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/stud-field-screw-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/air-deflector-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/screw-8-32-x--48-inch-bearing-shield-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/spider-d4d3-v2
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/nut-spider-d4d3
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/nut-separator-d4d3
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/nut-separator-se-g
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/separator-d4d3d2-v1
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/separator-d4d3-v2

www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

Motor, Version 1

1 - 1 1
| ]
| 1 1
2 1 ]
1 |
38
1 | | 1111 1]
3 L 1T 19
— = 20
4 e 7] o 42
| = 21
: 7
N veshasz 22
S ] . 43
23
L | | —————24
6 : - 44
7 P _r" i .._4.: .
8 ! i ! 25 26 27 28 29
N A 39
9 | e 30
{ : 40
41
31
32
33
34
35
36
37

Effective serial number 4378001 with a start date of March 1980 through serial number
4607200 and an end date of June 1982.

*Note: Through serial number 4388125 and an end date of June 29th 1980, the R1405

motor was standard. From serial number 4388126 through 4607200, the R1767 became
standard.

Page 11



www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

# |Image Item Name Item # Price

0 &Q Motor, Rainbow, 120v, D3/D?2 R2104 $243.75 USD*
1 /\ Clip, Stage Asm, D3/D2 R1423 $2.24 USD*

T

2 = Stage, Middle, D3/D2 R1419 $20.41 USD*
3 | @ Air Guide, D3/D2 R1418 $3.34 USD*
4a Bearing Plate, D3/D2 R1411 $91.77 USD*
4b @ | Bearing, Upper, D3/D2 R1184 $44.18 USD*
5 ® |Grommet, D3/D2 R665 $2.83 USD*
6 Terminal, Field, Power, D3/D2 R1853 $1.46 USD*
7 Clamp, Wire, D3/D2 H487 $0.20 USD*
8a % Field (R1426), 120v, D3/D2 R1435 ;iié_f:ﬁ*
8b ﬁ Field (R1909), 120v, D3/D2 R1910 $$£I.576.;8:_3§E*
9 Insulator, Field, D3/D2 R1454 $1.97 USD*
10a| @ |Armature (R1435), 120v, D3/D2 R1426 $m*
10b | "@e__ | Armature (R1910), 120v, D3/D2 R1909 $m*
11 o Bearing, Lower, D3/D2 R1180 $44.55 USD*
12 (@) Slinger Ring, D3/D2 R147 $1.66 USD*
13 O |Shield, Bearing, D3/D2 R146 $2.08 USD*
14 © Nut, Shaft, D3/D2 H306 $1.58 USD*

* Prices correct as of April 16, 2024, 6:16 pm.

Page 12



https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/motor-rainbow-120v-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/clip-stage-asm-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/stage-middle-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/air-guide-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/bearing-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/bearing-upper-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/grommet-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/terminal-field-power-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/clamp-wire-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/field-r1426-120v-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/field-r1909-120v-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/insulator-field-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/armature-r1435-120v-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/armature-r1910-120v-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/bearing-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/slinger-ring-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/shield-bearing-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/nut-shaft-d3d2

www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

# |Image Item Name Item # Price

15 e Spacer, Upper, D3/D2 R1486 $0.93 USD*
16 /'*‘ Stage, Upper, D3/D2 R1421 $17.06 USD*
17 & Spacer, Middle, D3/D2 R1417 $1.71 USD*
18 Fan, D3/D2 R675 $7.38 USD*
19 & Spacer, Lower, D3/D2 R1416 $2.55 USD*
20 * Screw, #8-32 x .31 Inch, Bearing Plate, D3/D2 H475 $0.36 USD*
21 | () |Gasket, Bearing Plate, D3/D2 R1415 | $1.98 USD*
22 % Motor Cooling Fan, D3/D2 R1469 $4.13 USD*
23 N Screw, Field, D3/D2 H535 $0.50 USD*
24 b Terminal, Field, Brush, D3/D2 R2423 $0.78 USD*
25 Gasket, Brush Holder, D3/D2 R1455 $1.89 USD*
26 v Brush Holder, D3/D?2 R662 $1.85 USD*
27 4 Screw, #8-32 x .50 Inch, Brush Holder, D3/D2 H309 $0.20 USD*
28a| “&¢  |Motor Brush, D3/D2 R1552 $21.42 USD*
28b | 417¢ | Conversion Kit, Brush / Holder, D3/D2 R2490 $28.97 USD*
29 ® Cap, Brush Holder, R662 R663 $0.68 USD*
30 % Housing, Motor, D3/D2 R1448 $30.76 USD*
31 Stud, Field Screw, D3/D2 R1449 $2.05 USD*

* Prices correct as of April 16, 2024, 6:16 pm.

Page 13



https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/spacer-upper-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/stage-upper-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/spacer-middle-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/fan-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/spacer-lower-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/screw-8-32-x--31-inch-bearing-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/gasket-bearing-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/motor-cooling-fan-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/screw-field-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/terminal-field-brush-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/gasket-brush-holder-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/brush-holder-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/screw-8-32-x--50-inch-brush-holder-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/motor-brush-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/conversion-kit-brush-holder-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/cap-brush-holder-r662
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/housing-motor-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/stud-field-screw-d3d2

www.rainvac.com - Free Phone Technical Support on ALL purchases - 800-640-2033

# |Image Item Name Item # Price

32 @ Air Deflector, D3/D2 R1424 Discontinued*
33 = Screw, #8-32 x .48 Inch, Bearing Shield, D3/D2 H308 $0.46 USD*

34 @ Spider, D3/D2A R1425 $12.26 USD*
35 €© | Nut, Spider, D3/D2 H13 $13.49 USD*
36a (\\\\\\) Separator, D4/D3/D2, v1 R312 $19.47 USD*
36b ( ) |separator, D4/D3, v2 R4100 $m*
37a a Screw, Separator, D3/D2 R3450 Discontinued*
37b 3 Nut, Separator, SE H555 $5.30 USD*

38a -~ Stage, Lower w/ Ground, D3/D2 R1752 $23.40 USD*
38b - Screw, #8-32 x .38 Inch, Ground, D3/D2 H25 $0.65 USD*

39 £ Retainer, Cover Plate, D3/D2 R1473 $1.33 USD*

40 N, |Cover Plate, D3/D2 R1471 $3.67 USD*

41 S Gasket, Cover Plate, D3/D2 R1470 $1.11 USD*

42 O Gasket, Upper Shell, D3/D2 R1794 $3.71 USD*

43 Shroud, Motor Housing, D3/D2 R1407 $5.13 USD*

44 | (O |Gasket, Lower Shell, D3/D2 R1795 | $13.80 USD*

* Prices correct as of April 16, 2024, 6:16 pm.

Page 14



https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/air-deflector-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/screw-8-32-x--48-inch-bearing-shield-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/spider-d3d2a
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/nut-spider-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/separator-d4d3d2-v1
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/separator-d4d3-v2
https://www.rainvac.com/rainbow-vacuum-parts/d2/motor-assembly-d2a/screw-separator-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d4/motor-assembly/nut-separator-se-g
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/stage-lower-w-ground-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/screw-8-32-x--38-inch-ground-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/retainer-cover-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/cover-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/gasket-cover-plate-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/gasket-upper-shell-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/shroud-motor-housing-d3d2
https://www.rainvac.com/rainbow-vacuum-parts/d3/motor-d3c/gasket-lower-shell-d3d2

